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9.07 Standard Normal Distribution Applications

All data in the following exercises is normally distributed. X =85 6=(5

1. Jack took a standardized achievement test with a mean of 125 and a standard deviation of 15.

Jack’s score was 148. X4y
a. Whatis the percentile rank for Jack’s score on this test? Percentile rank means that Jack scored

as well or better than that percentage of students taking the test.
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b. If Jill scored at the 67t percentile, what was her score on the test? . X" M 5= | & ( 0. l\“")
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2. The average number of absences for 1st graders is 15 with a standard deviation of L—
a. Whatis the probability of a 1st grader having fewer than 6 absences?
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b. Whatis the probagl.lty of a 1st grader having more than 20 absences? Q
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If a student is absent more often than 30.85% of other 1st graders, how many days did she miss?

Z=-0.5 2= X-X 1| -0.5
o |

—

3. On the Scholastic Aptitude Test (SAT), scores have a mean of 500 and a standard dé¥iation of 100.

a. Mo scored 600 on the math section What percentile did he achieve? -
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b. Larry scored 750 on the math section. What percentile did he achieve?
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c. Curley scored better than 97.72% of students on the math section of the SAT. What was his score?
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4. A patient recently diagnosed with Alzheimer’s disease took a cognitive abilities test. The mean

score on this test is 52 with a standard deviation of 5.
a. If the patient scored a 45 on the test, what is his percentlle rank?
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b. If a patient scored higher than 87.7% of other Alzheimer’s patients, what was her scere on the test?
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5. Mrs. Durand’s Algebra 2 unit test scores have a mean of 82 w1th a standard deviation of 5.5.
a. Whatis the probability that a student will score at least a 92? ! f’ Cx l al; Q,)
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'b. Whatis the probability a student Wﬂl geta B?

| e 9.5-gd
P(395¢x74) ]| 2, =1 = o5

=043115- 03264 0330k
-!O‘“:‘2?§4 =

at is the probablhfy a student will faﬂ7
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6. The dlameter of maple trees ina Canad1an forest have a mean of 10 mches and standard dev1at10n of
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7. The weights of 1800 fish in a lake have a mean of 3 kilograms and standard deviation of .5 kllograms
a. What percentage of fish weigh at least 3.75 kilograms? ( k(}i o m MQ> X= 0”' - 0.5
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_ b. Approximately how many fish in the lake wreig ast.3.75 kilograms?
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